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QUESTION 1

Your network contains a server named Server1 that runs Windows Server 2012. 

You plan to deploy Windows 8 to 200 client computers to meet the following requirements: 

Ten executive users must be able to use an application named App1. Other users must not be able to use App1. 

All users must be able to use Microsoft Office 2010 when their client computer is disconnected from the network. 

The solution must ensure that the amount of hard disk space used to store the images of Windows 8 is minimized. 

You need to recommend an image deployment solution that meets the requirements of the planned deployment. 

Which solution should you recommend? 

A. Deploy an image of Windows 8. Deploy Office 2010 by using Microsoft Application Virtualization (App- V). Deploy
App1 by using Group Policy Software Installation. 

B. Deploy an image of Windows 8 that contains Office 2010. Deploy App1 by using Group Policy Software Installation. 

C. Deploy an image of Windows 8 that contains Office 2010. Deploy an image of Windows 8 that contains Office 2010
and App1. 

D. Deploy an image of Windows 8. Deploy App1 and Office 2010 as RemoteApp programs. 

Correct Answer: A 

 

QUESTION 2

Your company has multiple departments. The departments are configured as shown in the following table. 

You plan to deploy Windows 8 to the client computers. 
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You need to recommend an imaging strategy for each department. The solution must minimize the amount of time
required to deploy the images to the client computers. 

Which imaging strategy should you recommend? 

To answer, drag the appropriate image type to the correct department in the answer area. Each image type may be
used once, more than once, or not at all. Additionally, you may need to drag the split bar between panes or scroll to
view 

content. 

Correct Answer: 

 

 

QUESTION 3

You plan to deploy a Virtual Desktop Infrastructure (VDI) that has RemoteFX USB redirection enabled. 

You need to identify which USB devices can be redirected to the Remote Desktop sessions. 

Which devices should you identify? (Each correct answer presents part of the solution. Choose all that apply.) 

A. a network adapter 

B. a smart card reader 
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C. a webcam 

D. a Voice over IP (VoIP) headset 

E. a scanner 

Correct Answer: BCE 

 

QUESTION 4

Your company has offices in New York and Sydney. 

The network contains an Active Directory domain named contoso.com. An organizational unit (OU) exists for each
office. 

The New York office contains a Virtual Desktop Infrastructure (VDI). All of the users in the New York office access
virtual desktops. 

You need to recommend a virtual desktop deployment strategy for the Sydney office users. 

The solution must meet the following requirements: 

User settings must be retained between sessions. 

All of the users must be assigned their own virtual desktop. Group Policies linked to the Sydney office OU must apply to
all of the virtual desktops that are used by the Sydney office users. 

What should you do? 

A. Create a new managed personal virtual desktop collection. 

B. Link a Group Policy object (GPO) to the Sydney office OU and specify the User Rights Assignment settings. 

C. Create a new managed pooled virtual desktop collection. 

D. Link a Group Policy object (GPO) to the Sydney office OU and specify the Restricted Groups settings. 

Correct Answer: A 

 

QUESTION 5

Your company has a main office and a branch office. 

The network contains an Active Directory domain named contoso.com. The domain contains two servers named
Server1 and Server2 that run Windows Server 2012. Server1 has the Windows Server Update Services server role
installed and 

configured. 

Server1 is located in the main office. Server2 is located in the branch office. 

You plan to install Windows Server update Services (WSUS) on Server2. 
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You need to configure the update infrastructure to meet the following requirements: 

Only updates approved by the administrator in the main office must be installed on client computers in the branch
office. 

The local administrator in the branch office must not be able to approve updates. Bandwidth usage between the offices
must be minimized. 

What should you do? 

A. Configure Server2 as a downstream server in autonomous mode. 

B. On Server1, configure a computer group that contains the client computers in the branch office, and then set the
approvals to Automatic. 

C. On Server1, configure a client computer group that contains Server2, and then set the approvals to Automatic. 

D. Configure Server2 as a downstream server in replica mode. 

Correct Answer: D 
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